= 2
el ey 2 AT (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
LH==C3 2 AU E 7,590,417 7,740,517 A150,100
= 1,860,000
= 5,730,417
LA A (SEldsat/oH =4t - 01F) 384,000 348,600 35,400
= 35,000
= 349,000
dxd & A7HE 384,000 348,600 35,400
= 35,000
=S 349,000
IH= SXHa 178,000 200,800 A22,800
201 er23| 6,000 5,000 1,000
01 At2teltl 6,000 5,000 1,000
OSda g7 =3 HME & ¢ 3,200
o248 =g 2,800
202 04| 12,000 12,000
01 2L 12,000 12,000
OSXtdL g =& 7,200
O3FA SAtdd A2 =8 4,176
OS2 ZHSAL X2 624
206 M=l 50,000 50,000
01 M=4l 50,000 50,000
OYOIME, HHEAIE, MEREM 2 50,000
207 ARl 60,000 60,000
03 Al &I 60,000 60,000
O0i0l, &=, I 2 60,000
401 Al HIZL 201 50,000 55,000 25,000
01 Al&H| 50,000 55,000 /5,000
OSTHLAE FX 2= 50,000
=8 AIZe2 156,000 101,800 54,200
201 er23| 111,000 61,600 49,400
01 At22te|HI 1,000 1,000 0
OANZEA itz W ADEIIXH 7
o 1,000
02 S3=gHl 110,000 60,600 49,400
OXIINEZ E LA FXI 2= 110,000
202 04l 10,000 10,200 A200
01 SLHoIHI 10,000 10,200 A200
OU=8 A+ AR 10,000
206 M=l 15,000 10,000 5,000
01 MZH| 15,000 10,000 5,000
OXZS NESHIE N=HI 15,000
207 ARl 20,000 20,000 0
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FA U=EAE A
B a0 AT (SRHSS/EHLEN - OfE)
ol AExd g EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
03 Alg 28I 20,000 20,000 0
OLIZE Ag 7] 20,000
AFWEE 2 (=) 50,000 0 50,000
= 3,000
= 15,000
201 Let2 ] 36,000 0 3,000
= 25,200
= 10,800
01 AlR22IH| 36,000 0 36,000
OTHAIZIRI0] DI} BEEE QAL
Xt 36,000
= 25,200
=S 10,800
202 04l 1,700 0 1,700
= 1,190
& 510
01 2L A LI 1,700 0 1,700
OUMAAN 2U2H0It SEEE ARFA 1,700
= 1,190
= 510
206 MH=HI 7,000 0 7,000
= 4,900
= 2,100
01 MZH| 7,000 0 7,000
OUAMSAHN 2I2t0F SHEAE M=4| 7,000
= 4,900
< 2,100
207 ARl 5,300 0 5,300
= 3,710
= 1,590
03 Al 32t 5,300 0 5,300
OUAAHN 212+010F SEHE A ST 5,300
= 3,710
= 1,590
Ut oS (soidaa/oi 2o - HE) 5,696,611 6,020,752 A324,141
= 1,825,000
= 3,871,611
=8 HEsd 5,421,740 5,761,200 A339,460
= 1,825,000
= 3,596,740
W8 ASDI8 2= 890,840 858,700 32,140
202 04l 4,800 6,000 21,200
01 SLHoIH 4,800 6,000 1,200
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FA =S IH M
M HAPAZHI(H==SHXRHE)(DIEH/DIE)
chol: ol (19 @)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
101 e124d| 1,153,065 1,035,530 117,535
01 2= 1,004,847 992,769 102,078
oJlzs 858,179
OF=1= 810,345
—HSH 184,978
4= 101,384,000&*1H 101,384
= 83,594,000&*1H 83,594
-2y 625,367
65 4,697,500 «6F « 122 281,850
= 4,201,500 2~ 123 100,836
= 2,804,400 x3&~ 12 100,959
A A 3,936, 7002 +3F « 12 141,722
oga+< 47,833, 2003 »50%*22] 47,834
o= 95,502
OJE+g 13,440
-t <Xt 40,0003 128128 5,760
-SHE 20,0002 +6E * 12 1,440
-SANE(HMAA)
30,0003 8 * 128 2,880
-SLINE(SMAH)
70,0003 x4 * 122 3,360
Og2+=giits 13,560
2001 & 100,000 x5 * 12 6,000
-15~204 80,0003 »3& * 128 2,880
-10~154 60,0002 4+ 12& 2,880
-5~104 50,0002 3 * 122 1,800
ouesar-< 9,552
-2k 150,188 +5& * 12 9,552
ORI (EE8)
50,0001 * 122 600
OfIE2R+2(E8)
40,0003 18+ 123 480
OJl=3d=2E 4,800
5= 50,0002 18~ 123 600
6, 7= 30,000 7 * 122 2,520
JIEEESE RS (FHIDHZ)
20,0003 x4« 128 960
-8, 92 20,0003 x3& * 128 720
Og7gR=g 80,0002 +x3& * 12 2,880
OAIZt2l =&
11,9503 14H #2541 2H+ 123 50,190
OZFEEFItdI 57,459,910& 57,460
OZ =4I 140,000 x 15 12& 25,200
OgIt2 4| 22,326

- 936 -




SM: LRI S
A HZYRAIHI(LH=BEXALH)(DIEH/IIEH)
chol: ol (ol )
RA - BE - SHAEH) - HRA - BAS ol &t e HIDEY
O EH(42) 188,912& 1 +13& 2,45
OtSH (53) 185, 76423« 1 »13& 2,025
O=SH 105,5892 x 13 =13 17,845
(OFS= BN 36,180
O4=2 400,000& x1E~12& 4,800
O52 250,000 x 1« 122 3,000
O6= 185,000 x5 * 12 11,100
ora 180,000 x2& * 12 4,320
08, 9= 175,000& x3&* 123 6,300
O A 185,000 x3&* 12 6,660
02 JIEt&E == 58,218 42,761 15,457
SIEE 3,541,7002 124+ 128 42,501
0+g 485,000+ 1 2+ 122 5,820
O UZAL| 140,00024 124 122 1,680
ClBIIRN] 101,584 124%132 1,320
OARASIRRLY
11,9502 x 1 +25A1 2t 123 3,585
QIEe 840
O EDN; 40,0003 x 1+ 123 480
O MXHA 30,000 x1&* 122 360
(OFSF= e 162,000 x 12 * 122 1,944
ot eS| 44,0003 1 ~128 528
SAtla & 2l 235,6%6 221,958 13,738
101 e124d| 211,804 199,460 12,344
03 SRA(RIAHS) 222+ 211,804 199,460 12,344
OAtY A3 211,804
Os0 2,566,0753 x4 &« 12 123,172
ogz2+¢ 2,566, 0753 x4 %25 x50% 10,265
Odxt=a=7t+=g
179, 15424 #4213 9,317
OAlRIeI2R4Y
21,584 »4 H*25 A 2Hx 12 +150% 38,852
OJE=g 3,960
BN} 40,0002 x2&* 122 960
-SLE 20,000 2 * 128 480
~FYIIE(RMAA)
30,0003 x1&* 122 360
-SLINE(SMAA)
70,0002 x 1 x 12 840
~FLIE(AMAE)
110,000& x 12+ 123 1,320
OEE=It| 10,264,300 x22] *60% 12,318
Od A SAH| 140,000& x4« 123 6,720
OunsHl 100,000 x4 * 122 4,800
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FA =S IH M
M HAPAZHI(H==SHXRHE)(DIEH/DIE)

Chel: J1=2Zl EEED
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
O4z J1=E 400,000 x 18+ 123 4,800
2 EZH2ZI 8,400 0 8,400
OHeI &= 50,0002 14+ 122 8,400
gXa 23 29,340 29,400 AB0
201 B2 AY| 29,340 29,400 AB0
01 A=R2teld| 29,340 29,400 AB0
oY - =8| 29,040
OZEA ET AIEH 300
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